EERLAR—F F1IReEPFEEFEEIRKE

SH5E3A27~28H

1EE T FE AR REVFAEEE
ROUND3-G1

JEAE 4 Hi GIE: 4 TEC  ATH Total
1A BER TR I A== A 18.06 7.80 25. 86
2 |k fEE S A== g 16.94 7.32 24. 26
3 |Hm —# HORCER A== g 16.94 7.20 24. 14
4 |PHEE WeRE A VN 16.52  7.02 23. 54
5 [EA bBA =10 R—TF =L 16.10 6. 84 22. 94
6 |FEH Hib g R UL R — 15.54 6.60 22. 14
7 (e HINER NS FyH Y77 —Hrr— |15.12 6.48 21. 60
8 [l tLiE SUERIF NR—=TF =L 14.28 6.06 20. 34
ROUND3-G2
NEAZ £ Hi Fr_ & ¥4 TEC  ATH Total
L[k B NUYS) A== g 18.48 7.74 26. 22
2 |BA Ex A Fx B YT —Hrr— [17.50 17.44 24. 94
3 |BREF A BER NR=T—L 17.50 17.20 24. 70
4 @3k HE Prif I T—F 16.24 6.84 23. 08
5 [THAK ®AE U AV avTERvay 16.10 6.78 22. 88
6 [fEH EDP SUERIF A== g 15.96 6.66 22. 62
(7P F PRI IR A= Y A 15.54  6.60 22. 14
8 |[iA WnHE PN T—F 14.84 6.24 21.08
ROUND3-G3
JEAE 4 Hi G 4 TEC  ATH Total
1 |BAS Fant NS R—=T— L 18.20 7.80 26. 00
2 [RUN DA Prif I T—F 18.06 7.68 25.74
3|k ALEE REAC IR VY —=F 17.08 17.20 24. 28
4 & TaHE B ER N 16.80 7.38 24. 18
5 Ik BROA AbfiE Va2 yvRvay 16.66 7.02 23. 68
6 | LB 27 O A== g 16.38 6.96 23. 34
TOEH KHIE o) 1 Bk A Al P 15.82  6.90 22. 72
8 | K% Wk TR Fx¥ XY 77 —% 7 — [15.68 6.66 22. 34




EERLAR—F F1IReEPFEEFEEIRKE

SH5E3A27~28H

1EE T FE AR REVFAEEE
ROUND3-G4

JEAE 4 Hi GIE: 4 TEC  ATH Total
1 |28 =i HORCER vy A— 18.48 7.74 26. 22
2 |/NEPER R7RlE PRZZ) | IR Fx XX T =% — [17.08 7.32 24. 40
3 |JE R MgG 2. % R—=TF— L 17.08 7.32 24. 40
4 (Al EE Ty IR V—F 16.94 7.20 24. 14
5 |fmE KERIEF R—T— L 16.10 6.96 23. 06
6 B 1K NS NR—TF =1 15.82 6.78 22. 60
7= eE T R FxH YT —H% s — [15.26 6.54 21. 80
8 |EiE =<5 FER LR FxY XY 77 —%r 7 — 1512 6.54 21. 66




